Homework about the HO model
1. If the production of wheat is carried out with an higher (L/K) than the production of textiles then an increase in the stock of capital will lead to an increase in the production of textiles. True or false? Why?

2. If an economy is physically abundant in one factor, then it must also be economically abundant in that factor. Ture ou false? Why?

3. According to the HO model, trade between two countries raises the relative price of the abundant factor in each country. True or false? Why?

4. If the production of one unit of wheat requires ten units of labour and the production of one unit of textiles requires only 2 units of the same factor, then wheat is intensive in labour compared with textiles. True or false? Why?

5. “Because trade equalizes the relative price of goods between countries, it eliminates the incentives for countries to trade with each other.” True or false? Why?

6.  X is the L-intensive good. If the country relatively abundant in K eliminates a tariff over the imports of X, what will happen to w, r  and (L/K)x? Explain.
